7000 GeV pp Top (parton level)

—| T I T I T I T I I I T I T I T —]

300 — —]

- O Herwig++ 2.7.1 default ]

| --3-- Herwig 7.2.1 default |

— —&— Pythia 8.308 default —

250 |~ ¥~ Pythia 8.308 vincia-default ]

IS ¢ Sherpa 2.2.9 default |

200 — —]

150 — —]

L LT R PP PP PP PP PP PP RREPTPPRRRPP P PR PP PR S T PR P L R PP LT LR PEPRRE: —

e O -

100 — ]

e T |

50 — —]

m | | , | | | | , | | I

:l T T T T T T T T |:

5 2F =

i — 3

(&) | ]
©

r! | —

[\- | —

(QV — |

+ G CE T T T P E P PP PP PP PP PEPPRPEPEPE S R LT P T PP PP P T PP E PP EPRPEt _|

2 1

s L ’
T

o N |

i) L |
g

0.5 _|

| 1 1 " 1 1 1 1 1 1 " |
-0.5 0.5

Rivet 3.1.10, = 2.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


